
Parts List for:    HIGH VELOCITY FAN Model  HVF14 Sealey Group,Bury St.Edmunds,  Suffolk.01284 757500 E-mail: sales@sealey.co.uk01284 703534
Original Date:- 160200 Issue Date:- 160200Version Nbr:- 0Date Modified:- N/A

ITEM PART NO DESCRIPTION1 HVF14/01 RUBBER FOOT (A) 2 HVF14/02 RUBBER FOOT (B) 3 HVF14/03 TAPPING SCREW 4 HVF14/04 MACHINE SCREW 5 HVF14/05 SWITCH CAP 6 HVF14/06 SWITCH HOUSING COVER 9 HVF14/09 ROTARY SWITCH  10 HVF14/10 TAPPING SCREW 11 HVF14/11 CABLE CLAMP  12 HVF14/12 SWITCH HOUSING 13 HVF14/13 TAPPING SCREW 14 HVF14/14 CORD CLAMP 15 HVF14/15 POWER CORD  16 HVF14/16 HEXA-SCREW   17 HVF14/17 BLADE   18 HVF14/18 MOTOR  19 HVF14/19 MACHINE SCREW M4X8   20 HVF14/20 M/C SCREW M4X20 21 HVF14/21 CONNECT BOX COVER  22 HVF14/22 CAPACITOR  23 HVF14/23 TERMINAL BLOCK   24 HVF14/24 TAPPING SCREW M4X12  25 HVF14/25 CONNECT BOX HOUSING26 HVF14/26 REAR GRILLE 27 HVF14/27 M/C SCREW M4X10 28 HVF14/28 CORD CLAMP29 HVF14/29 M/C SCREW M4X630 HVF14/30 SPACER31 HVF14/31 NUT M532 HVF14/32 BLADE SHAFT BUSHING33 HVF14/33 SPRING34 HVF14/34 TAPPING SCREW M3X835 HVF14/35 RING36 HVF14/36 FRONT GRILLE37 HVF14/37 DECORATING PLATE38 HVF14/38 JOINT SCREW39 HVF14/39 RUBBER SCREW40 HVF14/40 LEG41 HVF14/41 JOINT NUT M842 HVF14/42 TAPPING SCREW M4X12


